DEVELOPMENT AGREEMENT

THIS DEVELOPMENT AGREEMENT ("Agreement") is made and entered into effective this day of ______, 20____ ("Effective Date") by and between the CITY OF COMMERCE CITY ("City"), a Colorado home rule municipality whose address is 7887 East 60th Avenue, Commerce City, Colorado, and CLAYTON PROPERTIES GROUP II, d/b/a OAKWOOD HOMES, LLC ("Developer" or "Owner"), whose principal business address is 4908 Tower Road, Denver CO 80249.

WHEREAS, Developer owns certain real property within the City generally located at a part of Section 8, Township 2 South, Range 66 West, of the 6th P.M., City of Commerce City, County of Adams, State of Colorado, and more specifically described in **Exhibit A**, also known as Reunion Filing No. 38 ("Property");

WHEREAS, Developer intends to subdivide and/or develop the Property, the effect of which will directly impact and generate the need for on-site and off-site improvements;

WHEREAS, the City has enacted a Land Development Code (the "LDC") that, as a result of the subdivision and/or development, requires certain public improvements to be installed and/or constructed on or adjacent to the Property; and

WHEREAS, Developer acknowledges that the improvements required herein are reasonably attributable to the special impacts that will be generated by the proposed uses of the Property and that the terms and conditions set forth in this Agreement are reasonable, necessary and appropriate.

NOW, THEREFORE, in consideration of the mutual covenants and agreements contained herein, the parties hereby agree as follows:

I. IMPROVEMENTS REQUIRED

- A. Developer shall provide the improvements or other performance requirements as set forth in **Exhibits B and C** (collectively, the "Improvements") as follows:
 - 1. **Exhibit B**, attached hereto and incorporated herein by this reference, identifies all required infrastructure improvements related to public roadways, right of ways, storm sewer systems, and sidewalks (including multiuse paths) (the "Infrastructure Improvements"). Required Infrastructure Improvements shall be detailed in construction plans to be approved by the City.
 - 2. **Exhibit C**, attached hereto and incorporated herein by this reference, identifies all required improvements relating to or concerning landscaping for and along all roadways (including but not limited to principal and minor arterial roadways, major and minor collector roadways) and trails, in all private parks, and in open space areas and inclusive of sidewalks and trails outside the right of way, and all associated appurtenances (the "Landscape Improvements"). Required Landscape Improvements shall be detailed in landscape plans to be approved by the City.
 - 3. Exhibits B and C include a description of Improvements and schedules, in a form acceptable to the City, of the estimated costs of Improvements to be accepted by the City. If construction of Infrastructure Improvements and/or installation of Landscape Improvements have not begun within one (1) year of the Effective Date, Developer shall submit to the City not later than ninety (90) days prior to commencement of construction or installation, as applicable, revised Exhibits B and/or C, as appropriate, providing then-current schedules of estimated costs for the

- applicable Improvements and compliant with all then-current laws, codes, rules, regulations, standards and specifications of the City.
- 4. Costs provided in Exhibits B and C are provided for surety estimates only and shall not be used to establish or alter construction standards or specifications. The omission of any particular improvement from city approved construction plans or development permits shall not modify the obligation to provide the Improvements. Nothing in this Agreement shall be interpreted to alter or amend the City's Construction Standards and Specifications.
- B. Developer shall, at its sole expense, design, construct and install the Improvements for initial acceptance as provided in Section IV herein ("Initial Acceptance") and shall repair the Improvements as necessary until final acceptance by the City as provided in Section V herein ("Final Acceptance").
- C. Construction and landscape plans must be approved by the City prior to commencement of construction of Infrastructure Improvements or installation of Landscape Improvements.
- D. If the City or a third party designs and constructs any Improvements, the City or third party shall control the timing, scope, manner of design and construction and Developer shall grant the City or third party any easements, access, and right-of-way at no cost to the City necessary to construct such Improvements. In such a case, within the later of ninety (90) days of a written demand for payment or at the time of future development, Developer shall reimburse the City or third party for the actual costs of the design and construction of such Improvements, which costs shall be determined at the completion of construction. Nothing in this Agreement shall obligate the City to install or complete any Improvements or to require the City to recover costs of Improvements from any person.

II. SECURITY FOR CONSTRUCTION/INSTALLATION OF IMPROVEMENTS

A. <u>Security for Construction of Infrastructure Improvements.</u>

- 1. Prior to commencing construction of any of the Infrastructure Improvements, Developer shall provide, or cause to be procured, to the City an irrevocable letter of credit or a performance surety bond payable to the City equal to one hundred fifteen percent (115%) of the estimated cost of the Infrastructure Improvements (the "Infrastructure Security"). A bond or letter of credit shall be valid until Initial Acceptance of the Infrastructure Improvements. Any bond or letter of credit shall meet the requirements for bonds or letters of credit set forth in subsections III.D.1-2.
- 2. Upon issuance of the letter of Initial Acceptance described in Section IV.A., the City shall release the Infrastructure Security so long as all releases of mechanic's lien have been filed with respect to the project and an acceptable warranty performance guarantee as provided in Section III has been executed and delivered to the City.

3. Developer Default.

- a. In the event Developer fails to obtain Initial Acceptance within twenty-four (24) months from the commencement of construction, subject to extension at the City's sole discretion, the City may retain the Infrastructure Security and apply such funds to completion of the Infrastructure Improvements including administrative costs related to the retention of the Infrastructure Security and completion of construction.
- b. The City may, at its sole discretion, refund all or part of the Infrastructure Security not applied to completion of the Infrastructure Improvements.

c. The method and manner in which the City elects to construct or install the Infrastructure Improvements shall be at the sole discretion of the City; provided, however, that nothing herein shall obligate the City to install or complete the Infrastructure Improvements and nothing herein shall prevent, prohibit or limit the remedies available to the City to enforce the obligations of this Agreement.

B. Security for Installation of Landscape Improvements.

- 1. In the event Developer is unable to complete all Landscape Improvements prior to Initial Acceptance of the Infrastructure Improvements due to periods of adverse weather or similar reasons approved by the City, Developer shall provide to the City an irrevocable letter of credit or a performance surety bond payable to the City equal to one hundred fifty percent (150%) of the estimated cost of the uncompleted Landscape Improvements (the "Landscape Security"). Any irrevocable letter of credit or performance surety bond provided by Developer shall be valid until Initial Acceptance. Any bond or letter of credit shall meet the requirements set forth in subsections III.D.1-2.
- 2. Except as provided in subsection II.B.4. herein, the City shall release the Landscape Security only upon completion and City acceptance of all Landscape Improvements so long as all releases of mechanic's lien have been filed with respect to the Landscape Improvements and an acceptable warranty performance guarantee as provided in Section III has been executed and delivered to the City.
- 3. If delayed as provided for in subsection II.B.1. herein, Developer shall complete the Landscape Improvements not later than eight (8) months from the date of written request by the City.

4. Developer Default

- a. In the event Developer fails to complete the Landscape Improvements within eight (8) months from the date of the City's written request, the City may retain the Landscape Security and apply such funds to completion of the Landscape Improvements.
- b. The City may, at its sole discretion, refund all or part of the Landscape Security not applied to completion of the Landscape Improvements.
- c. The method and manner in which the City elects to install the Landscape Improvements shall be at the sole discretion of the City; provided, however, that nothing herein shall obligate the City to install or complete the Landscape Improvements and nothing herein shall prevent, prohibit or limit the remedies available to the City to enforce the obligations of this Agreement.
- 5. Regardless of the provisions of this Section II.B., the City shall not be responsible for maintaining the Landscape Improvements within the right-of-way of any arterial or collector roadways. The City shall maintain medians within principal and minor arterials to the extent landscaping has been installed by the City. Individual lot owners shall be required to maintain tree lawn areas as approved and installed along local roadways.
- C. <u>Bonds and Letters of Credit</u>. The Developer shall provide, or cause to be provided, all bonds and letters of credit, and any other security required by this Section II, to the Department of Finance of the City of Commerce City with a notice to the City Engineer evidencing compliance with this provision.

III. WARRANTY

- A. Developer hereby warrants all Improvements to be free from defects, including but not limited to, defects of materials, workmanship and design and that the Improvements otherwise fully comply with all applicable City standards and specifications in effect on the date of this Agreement.
- B. Prior to Initial Acceptance of the Infrastructure Improvements, Developer shall execute and deliver to the City a warranty performance guarantee equal to fifteen percent (15%) of the total estimated cost of the Infrastructure Improvements (the "Infrastructure Warranty").
- C. Prior to Initial Acceptance of the Landscape Improvements, Developer shall execute and deliver to the City a warranty performance guarantee equal to fifty percent (50%) of the total cost of Landscape Improvements to include all vegetative materials, irrigation and recreation facilities (the "Landscape Warranty"). Developer shall execute the Landscape Warranty as herein provided without regard to which party completed the Landscape Improvements.
- D. The Infrastructure Warranty and the Landscape Warranty (together, the "Warranties") shall each be in the form of an irrevocable letter of credit, warranty bond or cash escrow and shall provide security for costs that may be incurred in repairing or replacing the respective Improvements for thirty-six (36) months from the date of issuance of the Initial Acceptance (the "Warranty Period").
 - 1. Any entity issuing a bond shall have at least an "A" rating from Moody's, or an equivalent rating as designated by a nationally recognized ratings firm, and shall be included in the most recent listing of companies holding Certificates of Authority as Acceptable sureties on Federal Bonds and as Acceptable Reinsuring Companies, Department of Treasury, Circular 570.
 - 2. Letters of credit shall be in a form acceptable to the City and shall be drawn on a local Colorado institution acceptable to the City.
- E. In the event any substantial repair or replacement is required to any of the Improvements during the Warranty Period and such repair or replacement is not timely made upon notice of defect, or in any event before the expiration of the Warranty Period, the City may elect one or more of the following:
 - 1. Extend the Warranty Period for up to an additional one (1) year after acceptance of the completed repair or replacement and require the Developer to extend the term of the appropriate Warranty;
 - 2. Call the appropriate Warranty and secure repair or replacement of the non-conforming Improvements; and/or
 - 3. Order denial or suspension of outstanding building permits or Certificates of Occupancy until repair or replacement of the non-conforming Improvements has been performed and Initial Acceptance thereof has been granted by the City.
- F. <u>Bonds and Letters of Credit</u>. The Developer shall provide, or cause to be provided, all bonds and letters or credit, and any other security required by this Section III, to the Department of Finance of the City of Commerce City with a notice to the City Engineer evidencing compliance with this provision.

IV. INITIAL ACCEPTANCE

A. <u>Initial Acceptance of Infrastructure Improvements.</u>

- 1. In order to obtain Initial Acceptance of Infrastructure Improvements for a phase or an entire project, Developer shall submit to the City a written request for Initial Acceptance of Infrastructure Improvements and one (1) copy of record drawings.
- Within ten (10) business days of receipt of a request for Initial Acceptance, the City shall review
 the record drawings and shall either approve the drawings or return the drawings to the
 Developer with comments.
 - a. In the event the record drawings are returned to Developer with comments, Developer shall submit to the City the record drawings revised in accord with the City's comments.
 - b. Once the record drawings are approved, Developer shall submit to the City "certified record" drawings on Mylar and electronic AutoCAD files.
- 3. Within ten (10) business days of receipt of a request for Initial Acceptance of Infrastructure Improvements, the City shall inspect the Infrastructure Improvements.
 - a. During or subsequent to inspection of the Infrastructure Improvements, the City shall generate a written "punch list" of items requiring correction, repair or replacement in compliance with all applicable ordinances and standards of the City.
 - b. In the event Developer fails to correct, repair or replace the punch list items within thirty (30) days of the date the punch list is provided, the City shall not grant Initial Acceptance, but shall instead conduct a subsequent inspection of the Infrastructure Improvements and generate a new written punch list. This process shall continue until all punch list items have been corrected, repaired or replaced to the satisfaction of the City.
 - c. In no event shall the City grant Initial Acceptance of Infrastructure Improvements until after Developer has corrected, repaired and replaced the punch list items to the City's satisfaction.
- 4. Upon a finding of satisfactory completion of the Infrastructure Improvements in compliance herewith and with all applicable ordinances and standards of the City, and upon execution and delivery to the City of the Infrastructure Warranty, the City shall grant Initial Acceptance of the Infrastructure Improvements via certified letter to Developer, the date of which shall constitute the date of commencement of the Warranty Period for the Infrastructure Improvements as identified in Section III.D.
- 5. Building permits may be issued prior to Initial Acceptance for the phase for which the Infrastructure Security has issued provided that all required fire hydrants, water for fire suppression, roadway, curb and gutter have been constructed to City specifications and paved emergency access to the lots on which building permits are requested are satisfactory as determined by the City. For single family residential lots, the potential authorization of building permits shall be limited to no more than four (4) model homes within the Property prior to Initial Acceptance of the Improvements. Such model homes shall not be sold, conveyed, or otherwise transferred to a third party prior to Initial Acceptance of the Improvements. Certificates of Occupancy shall not be issued for any structure prior to Initial Acceptance of Infrastructure Improvements, however, the aforementioned model homes may be eligible for temporary occupancy permits where authorized by law.

B. <u>Initial Acceptance of Landscape Improvements.</u>

- In order to obtain Initial Acceptance of Landscape Improvements for a phase or an entire project, Developer shall submit to the City a written request for Initial Acceptance of Landscape Improvements.
- 2. The City shall inspect the Landscape Improvements within a reasonable time after receipt of a request for Initial Acceptance.
 - a. During or subsequent to such inspection, the City shall generate a written "punch list" of items requiring correction, repair or replacement in compliance with all applicable ordinances and standards of the City.
 - Not less than thirty (30) days after the date the punch list is provided to Developer, unless Developer authorizes an earlier inspection, the City shall conduct a reinspection of the Landscape Improvements and generate a new written punch list unless all punch list items have been corrected, repaired or replaced to the satisfaction of the City.
 - ii. This process shall continue until all punch list items have been corrected, repaired or replaced to the satisfaction of the City, at which time, the City shall proceed with Initial Acceptance as set forth herein.
 - b. Failure to correct, repair or replace the punch list items as provided herein shall constitute cause to deny any request for Initial Acceptance, and in no event shall the City grant Initial Acceptance until after Developer has corrected, repaired and replaced the punch list items to the City's satisfaction.
- 3. Upon a finding of satisfactory completion of the Landscape Improvements in compliance herewith and with all applicable ordinances and standards of the City, and upon execution and delivery to the City of the Landscape Warranty, the City shall grant Initial Acceptance of the Landscape Improvements via certified letter to Developer, the date of which shall constitute the date of commencement of the Warranty Period for the Landscape Improvements as provided in Section III.D.

V. FINAL ACCEPTANCE

A. Timing for Final Acceptance.

- 1. Developer shall obtain Final Acceptance of the Infrastructure Improvements, as provided herein, prior to the expiration of the applicable Warranty Period.
- 2. Developer shall obtain Final Acceptance of the Landscape Improvements, as provided herein, prior to the expiration of the applicable Warranty Period.
- B. <u>Procedure for Final Acceptance</u>. Not earlier than sixty (60) days or later than forty-five (45) days prior to the date of expiration of a Warranty Period, Developer shall submit a written request for Final Acceptance of the related Improvements.
 - Within a reasonable time after Developer's request for Final Acceptance, the City shall conduct
 a final inspection of the appropriate Improvements (either Landscape or Infrastructure) or
 authorized phase thereof.

- a. During or subsequent to such inspection, the City shall generate a written "punch list" of items requiring correction, repair or replacement in compliance with all applicable ordinances and standards of the City. Failure to correct, repair or replace the punch list items as provided herein shall constitute cause to deny any request for Final Acceptance.
 - Not less than thirty (30) days after the date the punch list is provided to Developer, unless Developer authorizes an earlier inspection, the City shall conduct a reinspection of the Improvements and generate a new written punch list unless all punch list items have been corrected, repaired or replaced to the satisfaction of the City.
 - ii. This process shall continue until all punch list items have been corrected, repaired or replaced to the satisfaction of the City, at which time, the City shall proceed with Final Acceptance as set forth herein.
- b. If the subdivision and/or development of the Property involves a land dedication to the City for a future park or school site, floodplain or open space (the "Dedicated Area(s)"), the City shall inspect such Dedicated Area(s). In the event any damage or dumping has occurred in, on or to any Dedicated Area, Developer shall be responsible for the restoration thereof. Despite the issuance of a Letter of Final Acceptance pursuant to this Section V, if any, the City shall not release the Landscape Warranty unless Developer has restored the Dedicated Area(s) to the City's satisfaction. Nothing herein shall be construed or deemed as requiring the City to release the Landscape Warranty prior to Final Acceptance of the Landscape Improvements.
- 2. Developer shall certify to the City that all persons and entities having provided labor and/or services in the construction or installation of the Improvements for which Final Acceptance is being sought have been fully paid subject to such exceptions as may be disclosed to the City and that are acceptable to the City.
- 3. If the Improvements subject to the inspection request fully conform to this Agreement and the City's applicable standards and specifications, and all corrections, repairs or replacements have been made to bring the Improvements into conformance, the City shall issue to Developer, via certified mail, a Letter of Completion and Final Acceptance.
- 4. Subject to the provisions of subsection 1.b. of this Section V.B., the City shall release the Warranty only after Final Acceptance of the Improvements related thereto.
- C. In the event Developer does not request Final Acceptance of Improvements forty-five (45) days prior to the expiration of the Warranty Period related thereto, or as extended by the City, the City shall have the right at any time thereafter to conduct a final inspection of the Improvements.
- D. If, pursuant to final inspection requested by the Developer or initiated by the City, including inspection of Dedicated Area(s), any Improvements or Dedicated Area(s) are found not to conform to the requirements of this Agreement or applicable City standards and specifications, the City may exercise any and all rights set forth in Section XV.
- E. Developer's failure to obtain Final Acceptance of Improvements prior to expiration of the Warranty Period related thereto shall constitute a Default under this Agreement, and the City may exercise its rights to secure performance as provided in Section XV.

F. Nothing herein shall be construed or deemed as requiring the City to finally accept or release from Warranty any Improvements that are defective or damaged.

VI. PHASING

Phasing of the Improvements, if applicable, shall be permitted subject to the terms and conditions of this Agreement and as described and depicted in **Exhibit D**. Developer, at its discretion, may modify the sequence of phase construction if approved by the both the Director of Community Development and the Director of Public Works.

VII. DEVELOPMENT STANDARDS AND PROCEDURES

- A. <u>Engineering and Landscaping Services</u>. Developer shall procure at its sole expense all professional services, including all engineering, surveying and landscaping services, necessary and appropriate for development of the Property, which services shall fully conform to the City's applicable ordinances, standards and specifications.
 - 1. All professional services shall be performed by engineers, surveyors, architects or other professionals duly licensed, accredited and/or certified in accordance with applicable state and local law.
 - 2. Landscaping services shall be performed by persons trained in landscape architecture or horticultural design.
- B. <u>Plan Review</u>. All applicable plans must be reviewed and approved by the City prior to construction or installation. No construction or installation of Improvements shall occur without prior plan approval.
- C. <u>Right-of-Way Permits</u>. Prior to commencing construction of the Improvements, Developer shall obtain all permits required under Chapter 10 of the Commerce City Revised Municipal Code (the "CCRMC"), pay all fees related thereto and pay any associated City use taxes, if required.
- D. <u>Testing</u>. Developer shall employ at its sole expense a professional qualified, independent testing company to perform all testing of materials or construction that may reasonably be required by the City to ensure compliance with City standards and specifications. Developer shall furnish to the City certified copies of test results and shall release and authorize full access to the City and its designated representatives all work-up materials, procedures and documents used in preparing test results.
- E. <u>Inspection</u>. During construction or installation of the Improvements and until Final Acceptance thereof, Developer shall request and coordinate with the City all inspections of the Improvements. If the required inspections are not conducted, the City shall have the right to require Developer to remove and replace the Improvements. Developer shall reasonably cooperate and assist the City to gain access to the areas designated for inspection. Developer shall also notify the City upon discovery of any non-conformance with the approved plans, standards and specifications for the Improvements. Inspection and acceptance by the City of any Improvements shall not relieve Developer of any responsibilities under this Agreement.
- F. <u>Erosion Control</u>. All work associated with the installation or construction of Improvements shall conform to the City's requirements for erosion control and the approved erosion and sediment control drawings associated with the Property.

- 1. Developer shall, at its own expense, keep on-site and adjacent streets and rights-of-way used as construction routes clean of mud, rocks and debris at all times during construction.
- 2. Within twenty-four (24) hours of verbal notification by the City of non-compliance with this subsection F, Developer shall commence clean-up operations and diligently pursue completion of such clean-up operations to the satisfaction of the City.
- 3. If Developer fails to respond within twenty-four (24) hours, the City is unable to contact Developer after reasonable effort, or Developer fails to diligently pursue clean-up operations to the satisfaction of the City, the City may take corrective action to clear or clean-up the affected streets and rights-of-way and invoice Developer for all costs incurred by the City, including administrative costs, for which Developer shall be liable for payment within seven (7) days of the invoice being issued by the City.
- G. <u>Damage to Public Infrastructure</u>. If the Developer or any agent or representative thereof causes damage to any public infrastructure (including without limitation, any surface pavers, flagstones, or other stone or concrete surfaces, planters, street and decorative lights, or canopies) such damage shall be promptly repaired with the same kind, quality, color, serviceability and material composition aspects as was possessed by the infrastructure damaged, unless otherwise expressly agreed to by the City in writing.

VIII. OBLIGATIONS OF SUBSEQUENT MORTGAGEE OR LIEN HOLDER

Any subsequent mortgagees or lien holders shall subordinate their interests in the Property to the rights and remedies of the City for purposes of this Agreement. No subsequent mortgagee or lienholder is obligated to complete any of the Improvements unless such subsequent mortgagee or lienholder becomes the Owner and continues development of the Property by requesting permits, certificates or other approvals from the City. In such event, the Improvements shall be completed pursuant to the terms and conditions of this Agreement.

IX. CONTRACTORS AND SUPPLIERS - LICENSING; PAYMENT - REMOVAL OF LIENS

- A. Developer shall ensure that all contractors and/or subcontractors employed by Developer are licensed as required by state and local law before any work on the Improvements is commenced.
- B. Developer shall at all times promptly make payments of all amounts due to persons supplying labor, materials or services in connection with the Improvements and to any persons who may otherwise be entitled to assert a lien upon the Property by virtue of C.R.S. § 38-22-102, et seq. Developer shall indemnify and defend the City with respect to any such lien and, regardless of the merits of the lien, shall immediately take any and all steps necessary to remove the lien from the Property.

X. NON-LIABILITY

Developer acknowledges that the City's review and approval of plans for the development of the Property are done in furtherance of the general public health, safety and welfare and that no specific relationship with, or duty of care to, Developer or third parties is assumed by such review approval or immunity waived as is more specifically set forth in Colorado Governmental Immunity Act, C.R.S. § 24-10-106.5.

XI. INDEMNIFICATION

- A. Developer shall be liable and responsible for any and all damages to persons or property caused by or arising out of the actions, obligations or omissions of Developer or its employees, agents, representatives or other persons acting under Developer's direction or control in performing or failing to perform the work to be performed under this Agreement. Developer shall indemnify, defend, and hold harmless the City, its elected and appointed officials and its employees, agents and representatives (the "Indemnified Parties"), from any and all liability, claims, demands, actions, damages, losses, judgments, costs or expenses, including, but not limited to, attorney fees, which may be made or brought or which may result against any of the Indemnified Parties as a result or on account of the actions or omissions of Developer and/or its employees, agents or representatives or other persons acting under Developer's direction or control.
- Developer specifically represents that all property dedicated (both in fee simple and as easements or other right of way) to the City within the Property is in compliance with all environmental protection and anti-pollution laws, rules, regulations, orders or requirements, including solid waste requirements. as defined by the U. S. Environmental Protection Agency Regulations at 40 C.F.R., Part 261, and that the Property as is in compliance with all such requirements pertaining to the disposal or existence in or on such dedicated property of any hazardous substances, pollutants or contaminants, as defined by the Comprehensive Environmental Response Compensation and Liability Act of 1980, as amended, and regulations promulgated thereunder. The Developer, for itself and its successor(s) in interest, shall indemnify, defend, and hold harmless the Indemnified Parties from any liability whatsoever that may be imposed upon the City by any governmental authority or any third party, pertaining to the disposal of hazardous substances, pollutants or contaminants, and cleanup necessitated by leaking underground storage tanks, excavation or backfill of hazardous substances, pollutants or contaminants, or environmental cleanup responsibilities of any nature whatsoever on, of, or related to any part of the property dedicated to the City, provided that such damages or liability are not caused by circumstances arising entirely after the date of acceptance by the City of the Improvements constructed on the dedicated property, except to the extent that such circumstances are the result of acts or omissions of the Developer. Said indemnification shall not extend to claims, actions or other liability arising as a result of any hazardous substance, pollutant or contaminant generated or deposited by the Indemnified Parties upon the property dedicated to the City.
- C. If any action, lawsuit, or claim is brought or asserted against the Indemnified Parties for which indemnity may be sought by the Indemnified Parties from the Developer, the Indemnified Parties shall promptly notify the Developer in writing, and the Developer shall promptly assume the defense thereof, including, but not limited to, the employment of counsel (the selection of which has been approved by the Indemnified Parties and such approval shall not be unreasonably withheld), the payment of all legal fees, expenses, and costs, and the right to negotiate and consent to settlement; provided however, that the Developer shall not settle any such action which may adversely affect the City without the City's written consent, which consent shall not be unreasonably withheld.
- D. The obligations of the Developer shall be in addition to any rights that any Indemnified Parties may have at common law or otherwise.
- E. The provisions set forth in this Section shall survive the completion of the Improvements and the satisfaction, expiration or termination of this Agreement. The obligations of this Section XI shall not apply to the extent the City becomes liable by final judgment to pay a third party as the result of the negligent act or omission of the City.

XII. INSURANCE

- A. <u>Coverages</u>. Prior to beginning any work whatsoever under this Agreement including preparatory work such as surveying, staking or clearing the Property, Developer shall, at no cost to the City, procure or cause to be procured the following coverages and maintain such coverages until all Improvements have been finally accepted:
 - 1. Commercial General or Business Liability coverage insuring against liability for personal injury, bodily injury or death arising out of the performance of Developer's obligations under this Agreement with minimum combined single limits of One Million Dollars (\$1,000,000.00) for each occurrence and Two Million Dollars (\$2,000,000.00) general aggregate.
 - 2. Products/Completed Operations coverage insuring against any liability for bodily injury or property damage caused by the completed Improvements with a combined single limit of at least One Million Dollars (\$1,000,000.00).
 - 3. Automobile Liability coverage with minimum combined single limits for bodily injury and property damage of not less than One Million Dollars (\$1,000,000.00) for any one occurrence with respect to each of Developer's owned, hired or non-owned vehicles assigned to or used in connection with the performance of Developer's obligations under this Agreement. In the event Developer's insurance does not cover non-owned vehicles, the requirements of this paragraph shall be met by each employee of Developer who uses a vehicle in connection with this Agreement, and Developer agrees to assure compliance by each employee prior to allowing use of a vehicle not owned by Developer.
 - 4. Workers' Compensation insurance as required by Colorado state statute and any other insurance required by applicable law.
 - 5. For the coverages required in subsections XII.A.1-3, Developer shall provide umbrella or excess coverage written on a "follow-form" basis to the underlying policy and in a coverage amount not less than One Million Dollars (\$1,000,000.00). In so doing, the coverage shall provide complete protection to the City consistent with the liability limits that may be imposed upon the City pursuant to the C.R.S. § 24-10-114, as may be amended.
- B. <u>Self-Insurance</u>. Evidence of qualified self-insured status may be substituted for one or more of the foregoing insurance coverages if first approved by the City in its sole discretion.
- C. Requirements. Developer shall at a minimum procure and maintain, or cause to be procured and maintained, the insurance coverages listed herein. Such coverages shall be procured and maintained with forms and insurers acceptable to the City. All coverages shall be continuously maintained to cover all liability, claims, demands and other obligations assumed by Developer pursuant to retroactive dates. Coverage for extended reporting periods shall be procured to maintain such continuous coverage.
- D. Certificates of Insurance and Endorsements.
 - 1. One or more Certificates of Insurance ("Certificates") shall be completed by Developer's insurer as evidence that policies providing the required coverages, conditions and minimum limits are in full force and effect, which Certificates shall be provided to the City for review and approval prior to commencement of any work under this Agreement.

- 2. Each Certificate required herein, except Workers' compensation coverage, shall name the City and its officers and employees as additional insureds.
- 3. Completed Certificates shall be sent to:

Risk Manager City of Commerce City Human Resources Department 7887 E. 60th Ave. Commerce City, CO 80022

City Engineer City of Commerce City Public Works Department 8602 Rosemary Street Commerce City, CO 80022

- 4. The City shall review the Certificates and endorsements as soon as practical, typically within ten (10) working days of receipt. The Certificates shall identify this Agreement and shall provide that the coverages afforded under the policies shall not be canceled, terminated or materially changed until at least thirty (30) days prior written notice has been given to the City.
- 5. In the event the period of coverage for any insurance required herein expires prior to the conclusion of Developer's obligations hereunder, Developer shall, not less than thirty (30) days prior to the expiration of any such insurance coverage, provide the City with a new certificate of insurance and endorsements evidencing new or continuing coverage in accordance with the requirements of this Agreement.
- E. <u>Failure to Obtain Insurance Constitutes Breach</u>. Developer's failure to procure or maintain policies providing the required coverages, conditions and minimum limits shall constitute a breach of this Agreement and, if said breach is not cured within ten (10) days of written notice by the City to Developer, the City may immediately terminate this Agreement, or at its discretion, the City may procure or renew any such policy or any extended reporting period thereto and may pay any and all premiums in connection therewith, and all monies so paid by the City shall be repaid by Developer to the City upon demand, or the City may offset the cost of the premiums against any monies due to Developer from the City, regardless of the source or location of such funds.
- F. <u>Certified Copies</u>. The City reserves the right to request and receive a certified copy of any policy and any endorsement thereto. Developer agrees to execute any and all documents necessary to allow the City access to any and all insurance policies and endorsements pertaining to this Agreement.
- G. <u>Subcontracts</u>. Developer shall include the insurance requirements set forth in this Agreement in all contracts and subcontracts entered into for the construction or installation of the Improvements. Developer shall be responsible for the failure of any such contractor or subcontractor to procure and maintain insurance meeting the requirements set forth in this Agreement. The City reserves the right to approve variations in the insurance requirements applicable to such contractors or subcontractors upon joint written request of the contractor or subcontractor and Developer if, in the City's discretion, such variations do not substantially affect the City's interests.

XIII. FEES, CHARGES AND DEDICATIONS

Fees, charges and dedications shall be assessed pursuant to Article IX of the LDC or as amended by City Council. The fees associated with the Property are outlined as follows:

- A. <u>Public Parks and Recreation Fees</u>. Developer shall make to the City a cash payment or land dedication or a combination thereof for public parks, trails and recreation facilities as set forth in the LDC.
- B. <u>Land Dedication for Schools</u>. Developer shall make a cash payment or land dedication or a combination thereof to the City for public school facilities as set forth in the LDC.
- C. <u>Road Impact Fee</u>. Upon issuance to Developer of a building permit for any structure within the Property, Developer shall pay a road impact fee to the City as set forth in the LDC.
- D. <u>Drainage Impact Fee</u>. Upon issuance to Developer of a building permit for any structure within the Property, Developer shall pay a drainage impact fee as set forth in the LDC.
- E. <u>Water Acquisition Fee</u>. Upon issuance to Developer of a building permit for any structure within the Property, Developer shall pay a water rights acquisition fee as set forth in the LDC.
- F. <u>Fire and Emergency Services Fee</u>. Fire and emergency services fees shall be payable to the applicable fire and emergency services provider, as set forth in the LDC.

XIV. RECORDATION - COVENANT RUNNING WITH THE LAND; BINDING EFFECT

A. <u>Recording</u>. Upon execution hereof, Developer shall, at its sole cost and expense, cause this Agreement to be recorded in the real estate records of the Clerk and Recorder for Adams County, Colorado. The City, at its sole option, also may cause the Agreement to be recorded.

B. Binding Effect.

- 1. This Agreement shall be binding on the parties hereto and their respective successors and assigns, without regard to the method or manner of succession or assignment, and shall be deemed and constitute a covenant running with the land.
- 2. Developer and any successor or assign of this Agreement, in whole or in part, shall be jointly and severally liable for the performance and obligations of such portion of the Agreement succeeded to or assigned unless otherwise consented to in writing by the City and executed in the same manner as this Agreement.
- 3. This Agreement shall remain in full force and effect until all applicable provisions herein have been fulfilled.
- C. <u>Assignment</u>. In the event Developer assigns any obligations of this Agreement, in whole or in part, the Developer shall provide notice of the assignment to the City, including a fully executed copy of the assignment, within 30 days of the execution of any assignment or assignment agreement.

XV. DEFAULT - REMEDIES

A. In the event Developer should fail to timely comply with any of the terms, conditions, covenants and undertakings hereof (a "Default") and the Default is not cured and brought into compliance within thirty (30) days of written Notice to Developer by the City ("Notice of Default"), except as provided in Section V herein, unless the City in writing designates a longer cure period reasonably requested by Developer, the City may call for payment of the applicable Warranty.

- B. The Notice of Default shall specify the conditions of Default. During the cure period the City may withhold building permits, Certificates of Occupancy or provision of new utilities fixtures or services.
- C. Nothing hereunder shall be construed to limit the City, in the event of a Default or other breach of this Agreement, from pursuing any other remedy at law or in equity that may be appropriate under the Home Rule Charter of the City of Commerce City, the Commerce City Revised Municipal Code, applicable law and the legal standards of the State of Colorado or United States before any court of competent jurisdiction. Such remedies shall be cumulative.
- D. In the event of a Default or other breach of this Agreement, the party in Default or breach shall be liable for payment to the non-defaulting/non-breaching party of all costs and reasonable attorney fees incurred by the non-defaulting/non-breaching party as a result of the Default or breach.
- E. Notwithstanding any provision of this Agreement that may be construed to the contrary, in no event shall the City, including its elected and appointed officials, current and former officers and employees, servants, agents, attorneys, representatives, insurance carriers, and self-insurance pools, be liable to the Developer for any exemplary, punitive, special, indirect, consequential, remote, or speculative damages arising out of or relating to, in any manner, this Agreement, whether arising in contract, tort, or otherwise, even if City has been informed of the possibility thereof, including without limitation a claim for impairment of bonding capacity.
- F. To the extent any damages arising under this Agreement may be covered by insurance, the Developer agrees to waive all rights of subrogation against the City, its agents, associated and affiliated entities, successors, or assigns, its elected and appointed officials, current and former officers and employees, servants, volunteers, agents, attorneys, representatives, insurance carriers, and self-insurance pools for losses arising from any acts or omissions of the City.

XVI. NOTICE

Any notice that may be given under this Agreement shall be made in writing and shall be deemed effective upon personal service of the other party or upon the date of mailing by certified mail, return receipt requested, addressed as follows (or other address the party to be notified may have designated by like notice to the sender):

DEVELOPER: Senior Vice President Randy Bauer 4908 Tower Road Denver, CO 80249 303-486-8500 CITY: Director, Dept. of Public Works City of Commerce City 8602 Rosemary Street Commerce City, CO 80022 (303) 289-8156

With copies to:

Director, Dept. of Community Development City of Commerce City 7887 E. 60th Avenue Commerce City, CO 80022

Director, Dept. of Parks, Recreation & Golf City of Commerce City 6060 E. Parkway Drive Commerce City, CO 80022

City Attorney's Office City of Commerce City 7887 E. 60th Avenue Commerce City, CO 80022

XVII. MISCELLANEOUS PROVISIONS

- A. <u>Incorporation by Reference</u>. The recitals to this Agreement and the attached Exhibits A-D are incorporated into this Agreement by reference.
- B. <u>Title and Authority</u>. Developer warrants to the City that it is (i) the record owner of the Property; (ii) authorized to execute this Agreement pursuant to a valid ground or similar lease; or (iii) acting in accordance with the currently valid and unrevoked power of attorney of the record owner attached hereto. Each individual executing this Agreement covenants and warrants that he or she is fully authorized to execute this Agreement on behalf of the party he or she represents.
- C. <u>Compliance with Applicable Law</u>. Developer hereby covenants and agrees that it shall comply with all applicable federal, state and local laws, ordinances and regulations.
- D. Governing Law and Venue; Recovery of Costs. This Agreement shall be governed by the laws of the State of Colorado. Venue for state court actions shall be in the 17th Judicial District in Adams County, Colorado, and venue for federal court actions shall be in the United States District Court for the District of Colorado. In the event legal action is brought to resolve any dispute among the parties related to this Agreement, the prevailing party in such action shall be entitled to recover reasonable court costs and attorney fees from the non-prevailing party.
- E. <u>Governmental Immunity Act</u>. No term or condition of this Agreement shall be construed or interpreted as a waiver, express or implied, of any of the immunities, rights, benefits, protections or other provisions of the Colorado Governmental Immunity Act, C.R.S. §§ 24-10-101, et seq.
- F. <u>No Waiver</u>. The failure of the City to take timely action with respect to any breach of any term, covenant or condition hereof shall not be deemed to be a waiver of such performance by Developer, or a waiver of any subsequent breach of the same or any other term, covenant or condition herein contained.
- G. <u>No Third-Party Beneficiaries</u>. It is expressly understood and agreed that enforcement of the terms and conditions of this Agreement, and all rights of action relating to such enforcement, shall be strictly reserved to the City and Developer, and nothing contained in this Agreement shall give or allow any such claim to right of action by any other third person on such Agreement. It is the expressed intention of the City and the Developer that no person other than the City or Developer receiving services or benefits under this Agreement shall be deemed a beneficiary hereof.
- H. <u>No Partnership or Agency Independent Contractor Relationship.</u> Notwithstanding any language in this Agreement or any representation or warranty to the contrary, the relationship between Developer and the City shall be as independent contractors, and neither the City nor Developer shall be deemed or constitute an employee, servant, agent, partner or joint venturer of the other.
- Entire Agreement. This Agreement contains the entire agreement of the parties relating to the subject
 matter hereof and, except as provided herein, may not be modified or amended except by written
 agreement of the parties.

- J. <u>Counterparts; Execution</u>. This Agreement may be executed in any number of counterparts, each of which shall be deemed to be an original, and, taken together will constitute one and the same instrument. Signature pages may be executed via "wet" signature or electronic mark and the executed signature pages may be delivered using pdf or similar file type transmitted via electronic mail, cloud based server, e-signature technology or other similar electronic means.
- K. <u>Severability</u>. To the extent that this Agreement may be executed and performance of the obligations of the parties may be accomplished within the intent of this Agreement, the terms of this Agreement are severable, and should any term or provision hereof be declared invalid or become inoperative for any reason, such invalidity or failure shall not affect the validity of any other term or provision hereof.
- L. <u>Acknowledgement of Open Records Act Public Document</u>. Developer hereby acknowledges that the City is a public entity subject to the Colorado Open Records Act, C.R.S. § 24-72-201, *et seq.* (the "Act"), and as such, this Agreement and any exhibits or attachments hereto, and any documents or reports produced pursuant to this Agreement, are be subject to public disclosure under the Act.
- M. Rules of Construction. Neither party will be deemed to have drafted this Agreement. This Agreement has been reviewed by all parties and shall be construed and interpreted according to the ordinary meaning of the words used so as to fairly accomplish the purposes and intentions of all parties. No term of this Agreement will be construed or resolved in favor of or against the City or Developer on the basis of which party drafted the uncertain or ambiguous language. Where appropriate, the singular includes the plural and neutral words and words of any gender will include the neutral and other gender. Paragraph headings used in this Agreement are for convenience of reference and shall in no way control or affect the meaning or interpretation of any provision of this Agreement.
- N. Consent to Electronic Signatures and Electronic Records. The Contractor consents to the use of electronic signatures by the City. This Agreement, and any other documents requiring a signature hereunder, may be signed electronically by the City in the manner specified by the City. The Parties agree not to deny the legal effect or enforceability of this Agreement solely because it is in electronic form or because an electronic record was used in its formation. The Parties agree not to object to the admissibility of this Agreement in the form of an electronic record, or a paper copy of an electronic document, or a paper copy of a document bearing an electronic signature, on the ground that it is an electronic record or electronic signature or that it is not in its original form or is not an original.

[The remainder of this page intentionally left blank. Signature page(s) follow(s).]

IN WITNESS WHEREOF, and agreeing to be fully bound by the terms of this DEVELOPMENT AGREEMENT, the parties have executed this DEVELOPMENT AGREEMENT as of the date first written above.

CITY OF COMMERCE CITY

ATTEST:	Roger Tinklenberg, City Manager
Dylan A. Gibson, City Clerk	— Approved as to form:
	Approved as to form.
	Matt Hader, Interim City Attorney
Recommended for approval:	
James E. Tolbert, Director	Joe Wilson, Director
Department of Community Development	Department of Public Works
	Brent Soderlin, City Engineer Department of Public Works
	Department of Luone Works

	CLAYTON PROPERTIES GROUP II, INC.
	Signature [signature must be notarized]
STATE OF COLONIA) COUNTY OF DENVEY) SS	Printed Name & Title
· · · · · · · · · · · · · · · · · ·	d before me this May of Florwary, 2029 by Jame of Authorized Signer), Assistant Backetury
My commission expires	Shinw Crespin
GINA CRESPIN NOTARY PUBLIC STATE OF COLORADO NOTARY ID 20054044138 MY COMMISSION EXPIRES NOVEMBER 15, 2025	Notary Public

EXHIBIT A

Property Legal Description

LEGAL DESCRIPTION

A PARCEL OF LAND BEING A PORTION OF THAT PARCEL OF LAND DESCRIBED WITHIN QUIT CLAIM DEED RECORDED UNDER RECEPTION NO. C0365970 OF THE RECORDS OF THE ADAMS COUNTY, CCLORADO CLERK AND RECORDER'S OFFICE ALONG WITH ALL OF THAT PARCEL OF LAND DESCRIBED WITHIN SPECIAL WARRANTY DEED RECORDED UNDER RECEPTION NO. 202000003055 IN SAID RECORDS, AND ALL OF THAT PARCEL OF LAND DESCRIBED AS PARCEL B, IN A SPECIAL WARRANTY DEED RECORDED AT RECEPTION NO. 2020000035759 IN SAID RECORDS, LOCATED IN THE NORTHWEST QUARTER OF SECTION B, TOWNSHIP 2 SOUTH, RANGE 66 WEST OF THE SIXTH PRINCIPAL MERIDIAN, CITY OF COMMERCE CITY, COUNTY OF ADAMS, STATE OF COLORADO, BEING MORE PARTICULABLY DESCRIBED AS FOLLOWS:

COMMENCING AT THE NORTHWEST CORNER OF SAID SECTION 8 AND CONSIDERING THE NORTH LINE OF SAID SECTION 8 TO BEAR NORTH 89'13'51" EAST, A DISTANCE OF 5,278.95 FEET WITH ALL BEARINGS CONTAINED HEREIN BEING RELATIVE THERETO;

THENCE SOUTH 49'52'09" EAST, A DISTANCE OF 101.42 FEET TO A POINT ON THE SOUTHERLY RICHT-OF-WAY OF EAST 112TH/ AVENUE AS DESCRIBED IN SPECIAL WARRANTY DEED RECORDED AT RECEPTION NO. 2020000008057, IN SAID RECORDS AND THE POINT OF BEGINNING;

THENCE ALONG SAID SOUTHERLY RIGHT-OF-WAY THE FOLLOWING EIGHT (8) COURSES:

- 1. NORTH 88'54'26" EAST, A DISTANCE OF 536.11 FEET;
- 2. SOUTH 46'05'34" EAST, A DISTANCE OF 35.36 FEET:
- 3. NORTH 88'54'26" EAST, A DISTANCE OF 64.00 FEET:
- 4. NORTH 43'54'26" EAST, A DISTANCE OF 35.36 FEET:
- NORTH 88'54'26" EAST, A DISTANCE OF 30.91 FEET TO THE BEGINNING OF A TANGENT CURVE CONCAVE NORTHERLY, HAWING A RADIUS OF 5555.00 FEET AND HAVING A CHORD BEARING OF NORTH 88'07'43" EAST, A DISTANCE OF 151.00 FEET;
- 6. NORTH 87'20'59" EAST, A DISTANCE OF 204.50 FEET TO THE BEGINNING OF A TANGENT CURVE CONCAVE SOUTHERLY HAVING A RADIUS OF 2,445.00 FEET AND HAVING A CHORD BEARING OF NORTH 88'09'23" EAST, A DISTANCE OF 68.84 FEET;
- 7. EASTERLY ALONG SAID CURVE THROUGH A CENTRAL ANGLE OF 01'36'48", AN ARC LENGTH OF 68.84 FEET;
- NORTH 89'50'53" EAST, A DISTANCE OF 14.89 FEET TO THE EASTERLY BOUNDARY OF THAT PARCEL OF LAND DESCRIBED IN SPECIAL WARRANTY DEED RECORDED AT RECEPTION NO. 2020000008055, IN SAID RECORDS;

THENCE ALONG SAID EASTERLY BOUNDARY AND THE SOUTHERLY PROLONGATION OF SAID EASTERLY BOUNDARY, SOUTH 00'20'50" EAST, A DISTANCE OF 532.60 FEET TO THE NORTHERLY BOUNDARY OF THAT PARCEL OF LAND DESCRIBED WITHIN THE SPECIAL WARRANTY DEED RECORDED ON FEBRUARY 14, 1995, IN BOOK 4466 AT PAGE 733, IN SAID RECORDS;

THENCE ALONG SAID NORTHERLY BOUND'ARY THE FOLLOWING FIVE (5) COURSES:

- 1. SOUTH 57'21'21" WEST, A DISTANCE OF 313.50 FEET;
- 2. SOUTH 67'47'22" WEST, A DISTANCE OF 803.42 FEET;
- 3. SOUTH 03'31'26" WEST, A DISTANCE OF 35.27 FEET;
- 4. SOUTH 26'07'51" WEST, A DISTANCE OF 140.18 FEET;
- 5. SOUTH 88'11'36" WEST, A DISTANCE OF 114.74 FEET TO A POINT ON THE EASTERLY RIGHT-CF-WAY OF CHAMBERS ROAD, SAID POINT BEING 30.00 FEET EAST OF THE WEST LINE OF THE NORTHWEST QUARTER OF SAID SECTION 8;

THENCE ALONG SAID EASTERLY RIGHT-OF-WAY, PARALLEL WITH SAID WEST LINE OF THE NORTHWEST QUARTER OF SECTION 8, NORTH 00'45'04" EAST, A DISTANCE OF 502.32 FEET TO THE SOUTHWEST CORNER OF THAT PARCEL OF LAND DESCRIBED IN SPECIAL WARRANTY DEED RECORDED AT RECEPTION NO. 2020000008055, IN SAID RECORDS;

THENCE ALONG THE SOUTHERLY AND EASTERLY BOUNDARY OF SAID PARCEL OF LAND DESCRIBED IN SPECIAL WARRANTY DEED RECORDED AT RECEPTION NO. 2020000008055 THE FCLLOWING TWO (2) COURSES:

- 1. SOUTH 89"14'56" EAST, A DISTANCE OF 20.00 FEET:
- 2. NORTH 00'45'04" EAST, A DISTANCE OF 628.89 FEET TO SAID SOUTHERLY RIGHT-CF-WAY OF EAST 112TH/ AVENUE AS DESCRIBED IN SPECIAL WARRANTY DEED RECORDED AT RECEPTION NO. 2020000008057 AND THE BEGINNING OF A NON-TANGENT CURVE CONCAVE SOUTHERLY HAVING A RADIUS OF 50.00 FEET, HAVING A CHORD BEARING OF NORTH 71'23'39" EAST, A DISTANCE OF 30.09 FEET, THE RADIUS POINT OF SAID CURVE BEARS SOUTH 36'07'08" EAST.

THENCE EASTERLY ALONG SAID CURVE THROUGH A CENTRAL ANGLE OF 35'01'34", AN ARC LENGTH OF 30.57 FEET TO THE POINT OF BEGINNING.

CONTAINING AN AREA OF 21.954 ACRES, (956,337 SQUARE FEET), MORE OR LESS.

EXHIBIT B

Improvements and schedule of estimated costs for all public roadways, storm sewer systems, and sidewalks.

Developer shall design, construct, and install the following:

- A. 110th Place beginning at the existing edge of pavement of Chambers Road to Helena Street.
- B. Helena Street from E. 110th Place to E. 111th Avenue.
- C. E. 111th Avenue from Chambers Court to Helena Court.
- D. Helena Court from E. 111th Avenue to E. 111th Place.
- E. Chambers Court from E. 111th Place to E. 110th Place.
- F. Helena Street from E. 111th Place to existing E. 112th Avenue.

These shall include: pavement, curb, gutter, storm drainage, sidewalks, all related appurtenances, signage & striping, streetlights, traffic signals, a fire department approved turnaround and all other appurtenances necessary to be in full compliance with the CCRMC, LDC, and all applicable rules, regulations, and standards adopted by the City.

Conditional Fire Department Turnarounds. At those locations where, pursuant to the Phasing Plan, roadways will not be built through until completion of a subsequent phase, such roadways shall not be eligible for Initial Acceptance unless the terminus of the roadway includes a temporary turnaround consistent will all requirements of and approved by South Adams County Fire District, and in full compliance with the CCRC, LDC, and all applicable rules, regulations, and standards adopted by the City. No roadway included in the Infrastructure Improvements may be "dead-end street" as defined by the LDC.

Where temporary turnarounds have been constructed, then upon continuation of such roadways pursuant to subsequent phases in the Phasing Plan, such turnaround shall be removed and the right of way restored at Developer's expense. To the extent necessary, and improvements or appurtenances associated with such turnarounds, shall be the relocated and reinstalled by the Developer in a manner consistent with the CCRMC, LDC, and all applicable rules, regulations, and standards adopted by the City.

	S	
	S	
	$\ddot{\circ}$	
	0	
1	ap	
•	9	
	ĭ	
	Ę	
	0	
000	粪	
	Ĕ	
	돐	
I	ш	
1	S	_
	er	2
	ne	
•	5	3
	2	1

1/24/2022

Date:

Exhibit BSubdivision Name: Reunion Filing 38 - Phase 1
Case File No.

Public Infrastructure Costs

Extended Cost Base Cost Quantity Description 1. Street Construction Items S S S S ITEM NO.

Total Cost - Streets

2. Drainage C	. Drainage Construction it	tems					
1	M-603-2	Storm Sewer 18"	LF	40	\$	75.00 \$	3,000.00
2	M-603-2	Storm Sewer 24"	LF	915	\$	82.00 \$	86,925.00
3	M-603-2	Storm Sewer 30"	4 1	150	\$	115.00 \$	17,250.00
4	M-604-20	Storm Sewer Manhole 5' Dia.	EA	9	\$	5,000.00	30,000.00
5	M-604-20	Storm Sewer Manhole 6' Dia.	EA	1	\$	6,500.00	6,500.00
9	M-604-12	Storm Inlet 5'	EA	9	\$	8,000.000	36,000.00
7	M-604-12	Storm Inlet 10'	EA	1	\$	8,500.00	8,500.00
8	N/A	Storm Connection to Existing	EA	1	\$	1,500.00	1,500.00
6	M-603-10	24" Storm FES Inlet	EA	5	\$	2,750.00 \$	13,750.00
				Tota	/ Cost - D	Total Cost - Drainage Items \$	203,425.00

			hase 1 Sub	total (Stree	Phase 1 Subtotal (Streets & Drainage) \$	69	652,659.25
626-00000 MOBILIZATION (pe	MOBILIZATION (percentage of sub total)	S	~	€	32,632.96	69	32,632.96
630-00007 ENGINEERING (per	ENGINEERING (percentage of sub total)	r _S	-	€9	32,632.96	G	32,632.96
	TRAFFIC CONTROL (percentage of sub total)	rs	-	₩	32,632.96	\$	32,632.96
CONSTRUCTION	CONSTRUCTION MANAGEMENT (percentage of sub total)	ည	•	↔	32,632.96	69	32,632.96
CONTINGENCY (p.	CONTINGENCY (percentage of sub total)	r _S	-	49	97,898.89	69	97,898.89
TOTAL BID (DOLLARS):						€9	881,089.99

Engineer's Estimate of Probable Costs	Subdivision Name: Reunion Filing 38 - Phase 2
Exhibit B	Case File No.
Engil	Subdivis
Exhib	Case Fi

1/24/2022

Date:

Public Infrastructure Costs

Extended 5 128 56 56 56 56 56 56 56 56 56 56 56 56 56	Base Cost 25.00 \$ 9.00 \$ 9.00 \$ 2.000 \$ 2.000 \$ 2.000 \$ 2.000 \$ 84.00 \$ \$ 84.00 \$ \$	8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8	Quantity 50,375 5,145 0 0 2,760 7 10	A S S S E	S S S S S S S S S S S S S S S S S S S	Street Construction Item NO. CDOT ITEM NO. NO.	1. Street Con TEM NO. 1 2 2 3 3 4 4 4 6 6 6 6 6 6 6
7 500 00	2 500 00	¥	۲	EA	Street	AVA	7
4	84.00	↔	10	EA	Street Signs	N/A	9
\$ 14,000.00	2,000.00	\$	7	EA	Handicap Pedestrian Ramp	N/A	5
	20.00	\$	2,760	LF	Mountable Curb and Gutter (2' pan)	N/A	4
-	9.00	49	0	SY	Concrete Sidewalk	N/A	3
	25.00	ક	5,145	SY	Hot Mix Asphalt	N/A	2
\$	2.75	ક્ક	50,375	ζ	Cut / Fill Rotation	N/A	-
Extended Cost	Base Cost			Unit	И	CDOT ITEN	ITEM NO.
					tems	struction Ite	1. Street Con

				٠	
	,				
16,825.0	Total Cost - Drainage Items \$	otal Cost -	7€		
-	2,750.00 \$	s	0	EA	9 M-603-10 24" Storm FES Inlet
1,500.0	1,500.00 \$	ક્ક	1	EA	8 N/A Storm Connection to Existing
•	8,500.00	S	0	EA	7 M-604-12 Storm Inlet 10'
12,000.0	\$ 00.000.9	8	2	EA	6 M-604-12 Storm Inlet 5'
	8,500.00	8	0	EA	5 M-604-20 Storm Sewer Manhole 6' Dia.
ı	\$,000.00	S	0 .	EA	4 M-604-20 Storm Sewer Manhole S' Dia.
	115.00 \$	s	0	LF	3 M-603-2 Storm Sewer 30"
3,325.0	\$ 00.06	s	35	LF	2 M-603-2 Storm Sewer 24"
	75.00	S	0	LF	1 M-603-2 Storm Sewer 18"
					2. Urainage Construction Items

				Phase 2 Sul	ototal (Stree	Phase 2 Subtotal (Streets & Drainage) \$	۰,	361,521.25
9	626-00000	MOBILIZATION (percentage of sub total)	LS	-	ь	18,076.06	د م	18,076.06
9	30-00007	ENGINEERING (percentage of sub total)	S	-	ь	18,076.06	40	18,076.06
9	30-00012	TRAFFIC CONTROL (percentage of sub total)	S	-	↔	18,076.06	"	18,076.06
		CONSTRUCTION MANAGEMENT (percentage of sub total)	S	-	69	18,076.06	40	18,076.06
		CONTINGENCY (percentage of sub total)	rs	-	69	54,228.19	۲۵.	54,228.19
TOTAL BID (DOLLARS))LLARS):						44	488,053.69

EXHIBIT C

Landscape Improvements and schedule of estimated costs along all roadways, trails, opens spaces, and in all private parks, and inclusive of sidewalks and trails not in the right of way.

The improvements identified herein are associated with land use application number(s): Z-781-D-482-22

The following landscape improvements shall be installed in full compliance with the CCRMC, LDC, and all applicable rules, regulations, and standards adopted by the City. The Landscape Improvements are further set forth and depicted in the Reunion Filing 38 P.U.D Permit (the "Plan"), also referred to as the Landscape Plan, and shown at pages L1.2 through L1.13. last revised August 27, 2021, as may be amended from time to time, to be approved by the City subsequent to execution of the Agreement. (All references to Tracts herein shall refer to those identified as such in the Plan.)

The landscape improvements shall be installed at the following locations:

- A. Tract A is located on the South side of E. 112th Ave from Chambers Road to Helena Street.
- B. Tract B is located on the South side of E. 112th Ave from Helena Street to the detention pond.
- C. Tract C is located adjacent to Block4 Lot1.
- D. Tract D is located at the southwest corner of E 111th Place and Helena Court.
- E. Tract E is located on the East side of Chambers Road from E. 112th Ave to E. 110th Place.
- F. Tract F is located on the East side of Chambers Road from E. 110th Place to the property boundary with Buffalo Run Golf Course
- G. Tract G is located between Tract F and the property boundary.
- H. Tract H is the detention pond.
- I. Tract I is the Golf Course Parking Lot.
- J. Tract J is located along the west side of Tract I, between Block 4 lots and the south property boundary, and between 110th Place ROW and the south property boundary.
- K. Tract K is located between Lots 1, 2, 4, 5, and 9 of Block 6 and the south property boundary.

Developer shall install and maintain in perpetuity the required Landscaping Improvements along all principal and minor arterials and major and minor collector roadways.

For multi-lot or multi-building developments, the table and tract map includes itemized landscape and related improvements organized either by Tract and Phasing (if applicable).

For single lot or single building development, the table and tract map includes itemized landscape and related improvements.

The itemization and depictions contained herein shall not be construed to alter the scope or content of the required landscape improvements. Itemizations herein are for surety purposes only and shall not substitute or replace the requirements set forth in the CCRMC, LDC, or any applicable rules, regulations, or standards adopted by the City.

Exhibit C - Reunion Filing 38

Case Number:

Development Agreement (DA) - Landscape Improvement Cost Estimate

Date: January 4, 2022

Prepared by: Oakwood Homes, LLC

ADD TRACT MAP FOLLOWING THESE SHEETS- Fill in this spreadsheet by individual tract. A sample of items found within the tracts is found under each Tract. Please utilize these items as a place to start. If a specialized item is missing, it may be added to the necessary Tract(s). After adding the necessary items, fill in the quantity column and cost/unit column. The total cost column and the summary table at the top should populate automatically for easy reference. For tracts with no items, place N/A.

SUMMARY		
PHASE 2		
Tract A / Reunion MD	Subtotal:	\$ 121,402.65
Tract E / Reunion MD	Subtotal:	\$ 283,517.20
PHASE 2	SUBTOTAL:	\$ 404,919.85
PHASE 1		
Tract B / Reunion MD	Subtotal:	\$ 22,701.35
Tract C / Reunion MD	Subtotal:	\$ 180.00
Tract D / Reunion MD	Subtotal:	\$ 308,604.45
Tract F / Reunion MD	Subtotal:	\$ 217,295.40
Tract G / City of Comm City	Subtotal:	\$ 19,113.90
Tract H / Reunion MD	Subtotal:	\$ 3,180.00
Tract I / City of Comm City	Subtotal:	\$ 9,126.00
Tract J / Reunion MD	Subtotal:	\$ 125,636.65
Tract K / Reunion MD	Subtotal:	\$ 10,712.00
PHASE 1	SUBTOTAL:	\$ 716,549.75
	15% Contingency	\$ 168,220.44

FIL 5 PIA

Page 1

Development Name and Filing PIA LANDSCAPE TOTAL | \$ 1,289,690.04

Tract A						
ITEM	QUANTITY	UNIT	T	COST/UNIT	- Commence	TOTAL COST
Soil Prep & Fine Grading (Sod Area & Shrubs Beds)	6,687	SF	\$	0.40	\$	2,674.80
Sod	1,649	SF	\$	2.00	\$	3,298.00
Native Seed Mixture	14,539	SF	\$	0.15	\$	2,180.85
Steel Edger	889	LF	\$	6.00	\$	5,334.00
Rock Mulch	5,038	SF	\$	3.00	\$	15,114.00
Deciduous Trees (2" Cal.)	7	EA	\$	550.00	\$	3,850.00
Ornamental Trees (1.5" Cal.)	9	EA	\$	400.00	Ś	3,600.00
Evergreen Trees (6'-8' Ht.)	6	EA	\$	550.00	Ś	3,300.00
Shrubs (5 gal)	139	EA	\$	43.00	\$	5,977.00
Ornamental Grasses / Perennials (1 gal)	165	- EA	\$	15.00	\$	2,475.00
Irrigation	21,226	SF	\$	1.50	\$	31,839.00
3-Rail Split Rail Fence	82	LF	\$	15.00	S	1,230.00
Privacy Fence	579	LF	\$	70.00	\$	40,530.00
APPARENT NEW YORK OF THE PERSON OF THE PERSO			Т	ract A / Reunion MD	\$	121,402.65

Tract B	Marian de la companya					建设建筑和建筑设置
ITEM	QUANTITY	UNIT		COST/UNIT	i da	TOTAL COST
Soil Prep & Fine Grading (Sod Area & Shrubs Beds)	934	SF	\$	0.40	\$	373.60
Native Seed Mixture	3,595	SF	\$	0.15	\$.	539.25
Steel Edger	80	LF .	\$	6.00	\$	480.00
Rock Mulch	934	SF	\$	3.00	\$	2,802.00
Deciduous Trees (2" Cal.)	3	EA	\$	550.00	\$	1,650.00
Ornamental Trees (1.5" Cal.)	2	EA	\$	400.00	\$	800.00
Evergreen Trees (6'-8' Ht.)	1	EA	\$	550.00	\$	550.00
Shrubs (5 gal)	36	EA	\$	43.00	\$	1,548.00
Ornamental Grasses / Perennials (1 gal)	13	EA	\$	15.00	\$	195.00
Irrigation	4,529	SF	\$	1.50	\$	6,793,50
3-Rail Split Rail Fence	82	LF	\$	15.00	\$	1,230.00
Privacy Fence	82	LF	\$	70.00	5	5,740.00
		6.60	Т	ract B / Reunion MD	\$	22,701.35

Tract C									
ITEM	QUANTITY	UNIT	COST/UNIT		TOTAL COST				
3-Rail Split Rail Fence	12	LF	\$	15.00	\$	180.00			
	Application of the second		Tract C	/ Reunion MD	\$	180.00			

Tract D											
ITEM	QUANTITY UNIT		COST/UNIT			TOTAL COST					
ADA Playground Ramp	1	EA	\$	3,200.00	\$	3,200.00					
Concrete Playground Edger	162	LF	\$	60.00	\$	9,720.00					
Engineered Wood Fiber	1,820	SF	\$	5.00	\$	9,100.00					
Multi-Level Play Structure	1	EA	\$	75,000.00	\$	75,000.00					
Swing	1	EA	\$	3,500.00	\$	3,500.00					
Pet Waste Station	1	EA	\$	225.00	\$	225.00					
Shade Structure	1	EA	\$	70,000.00	\$	70,000.00					
Picnic Tables	2	EA	\$	2,700.00	\$	5,400.00					
BBQ Grill	1	EA	\$	625.00	\$	625.00					
Benches	3	EA	\$	2,000.00	Ś	6,000.00					
Trash Receptacles	3	EA	\$	1,200.00	Ś	3,600.00					
Bike Rack	1	EA	\$	375.00	Ś	375.00					
Concrete Walks	1,233	SF	\$	9.00	\$	11,097.00					
Crusher Fines	449	SF	\$	3.50	\$	1,571.50					
Soil Prep & Fine Grading (Sod Area & Shrubs Beds)	16,824	SF	\$	0.40	\$	6,729.60					

FIL 5 PIA

			Tract D	/ Reunion MD	\$ 308,604.45
3-Rail Split Rail Fence	337	LF	\$	15.00	\$ 5,055.00
Irrigation	25,003	SF	\$	1.50	\$ 37,504.50
Ornamental Grasses / Perennials (1 gal)	40	EA	\$	15.00	\$ 600.00
Shrubs (5 gal)	66	EA	\$	43.00	\$ 2,838.00
Evergreen Trees (6'-8' Ht.)	14	EA	\$	550.00	\$ 7,700.00
Ornamental Trees (1.5" Cal.)	2	EA	\$	400.00	\$ 800.00
Deciduous Trees (2" Cal.)	17	EA	\$	550.00	\$ 9,350.00
Rock Mulch	1,345	\$F	\$	3.00	\$ 4,035.00
Steel Edger	399	LF	\$	6.00	\$ 2,394.00
Native Seed Mixture	8,179	SF	\$	0.15	\$ 1,226.85
Sod	15,479	SF	\$	2.00	\$ 30,958.00

Tract E										
ITEM	QUANTITY	UNIT	T	COST/UNIT		TOTAL COST				
Soil Prep & Fine Grading (Sod Area & Shrubs Beds)	20,154	SF	5	0.40	5	8,061.60				
Sod	8,080	SF	\$	2.00	\$	16,160.00				
Native Seed Mixture	3,564	SF	\$	0.15	5	534.60				
Steel Edger	905	LF	\$	6.00	\$	5,430.00				
Rock Mulch	8,510	SF	\$	3.00	\$	25,530.00				
Deciduous Trees (2" Cal.)	21	EA	\$	550.00	Ś	11,550.00				
Ornamental Trees (1.5" Cal.)	11	EA	\$	400.00	Ś	4,400.00				
Evergreen Trees (6'-8' Ht.)	9	EA	\$	550.00	\$	4,950.00				
Shrubs (5 gal)	180	EA	\$	43.00	\$	7,740.00				
Ornamental Grasses / Perennials (1 gal)	211	EA	\$	15.00	Ś	3,165.00				
Irrigation	20,154	SF	\$	1.50		30,231.00				
3-Rail Split Rail Fence	97	LF	\$	15.00	Ś	1,455.00				
Privacy Fence	633	LF	Š	70.00	Ś	44,310.00				
Neighborhood Monument	1	EA	\$	120,000.00	\$	120,000.00				
			Tr	ract E / Reunion MD	_	283,517.20				

Tract F						
ITEM	QUANTITY	UNIT		COST/UNIT		TOTAL COST
Concrete Walks	6,526	SF	\$	9.00	5	58,734.00
Soil Prep & Fine Grading (Sod Area & Shrubs Beds)	8,261	SF	\$	0.40	5	3,304,40
Sod	4,368	SF	\$	2.00	\$	8,736.00
Native Seed Mixture	34,190	SF	\$	0.15	\$	5,128.50
Steel Edger	281	LF	\$	6.00	\$	1,686.00
Rock Mulch	3,893	SF	\$	3.00	\$	11,679.00
Deciduous Trees (2" Cal.)	12	EA	\$	550.00	\$	6,600.00
Ornamental Trees (1.5" Cal.)	3	EA	\$	400.00	\$	1,200.00
Evergreen Trees (6'-8' Ht.)	9	EA	\$	550.00	\$	4,950.00
Shrubs (5 gal)	112	EA	\$	43.00	\$	4,816.00
Ornamental Grasses / Perennials (1 gal)	68	EA	\$	15.00	\$	1,020.00
Irrigation	42,451	SF	5	1.50	Ś	63,676.50
3-Rail Split Rail Fence	97	LF	\$	15.00	\$	1,455.00
Privacy Fence	633	LF	\$	70.00	\$	44,310.00
			Tr	ract F / Reunion MD	\$	217,295.40

Tract G								
ITEM	QUANTITY	UNIT	COST/UNIT	TOTAL COST				
Concrete Walks	487	SF	\$ 9.00	\$	4,383.00			
Native Seed Mixture	6,546	SF	\$ 0.15	\$	981.90			
Irrigation	6,546	SF	\$ 1.50	Ś	9,819.00			
3-Rail Split Rail Fence	262	LF	\$ 15.00	\$	3,930.00			
			act G / City of Comm City	Ś	19.113.90			

FIL 5 PIA

Page 3

tract H									
ITEM	QUANTITY	QUANTITY UNIT		COST/UNIT		TOTAL COST			
3-Rail Split Rail Fence	212	LF	\$	15.00	\$	3,180.00			
			Tract F	/ Reunion MD	\$	3,180.00			

Tract I									
ITEM Concrete Walks	QUANTITY	UNIT	COST/UNIT		TOTAL COST				
	1,014	ŞF	\$	9.00	\$	9,126.00			
			ract I / City	of Comm City	\$	9,126.00			

Tract /									
ITEM	QUANTITY	UNIT		COST/UNIT		TOTAL COST			
Concrete Walks	5,521	SF	\$	9.00	\$	49,689.00			
Native Seed Mixture	21,441	SF	\$	0.15	\$	3,216.15			
Deciduous Trees (2" Cal.)	5	EA	\$	550.00	\$	2,750.00			
Ornamental Trees (1.5" Cal.)	5	EA	\$	400.00	\$	2,000.00			
Evergreen Trees (6'-8' Ht.)	5	EA	\$	550.00	\$	2,750.00			
Irrigation	21,441	SF	\$	1.50	\$	32,161.50			
3-Rail Split Rail Fence	282	LF	\$	15.00	\$	4,230.00			
Privacy Fence	412	LF	\$	70.00	\$	28,840.00			
			T	ract J / Reunion MD	\$	125,636.65			

Tract K									
ITEM	QUANTITY	UNIT		COST/UNIT		TOTAL COST			
Concrete Walks	641	SF	\$	9.00	\$	5,769.00			
Native Seed Mixture	2,020	SF	\$	0.15	\$	303.00			
Evergreen Trees (6'-8' Ht.)	2	EA	\$	550.00	\$	1,100.00			
Irrigation	2,020	SF	\$	1.50	\$	3,030.00			
3-Rail Split Rail Fence	34	LF	\$	15.00	\$	510.00			
			Т	ract K / Reunion MD	\$	10,712.00			

EXHIBIT D

Phasing

The project will be built in two phases.

Developer shall construct and install the following:

Phase 1 Description

The following Infrastructure Improvements and associated Landscaping Improvements shall be completed in Phase 1:

- A. 110th Place beginning at the existing edge of pavement of Chambers Road to Helena Street.
- B. Helena Street from E. 110th Place to E. 111th Avenue.
- C. E. 111th Avenue from the intersection of E. 111th Avenue/Helena Street to Helena Court.
- D. Helena Court from E. 111th Avenue to E. 111th Place.
- E. E. 111th Place from the intersection of E. 111th Place/Helena Street to Helena Court.
- F. Helena Street from E. 111th Place to existing Chambers Road.
- G. Landscape Improvements within Tracts B, C, D, F, G, H, I, J, and K.

Phase 2 Description

Construction and installation within Phase 2 shall commence after Phase 1 Initial Acceptance Letter is issued by the City and wet and dry utilities stubs are extended from Phase 1 into Phase 2, and residential homes constructed within Phase 2 shall have a minimum of two access roads for ingress and egress from Phase 1.

- A. Chambers Court from E. 110th Place to E. 111th Place.
- B. E. 111th Place from Chambers Court to the intersection of E. 111th Place/Helena Street.
- C. E. 111th Avenue from Chambers Court to the intersection of E. 111th Avenue/Helena Street.
- D. Landscape Improvements within Tracts A and E.

